%£18H 9H20H(K)

SH5E9A208 (K)~24R(H)

HaHE

=27

A24% L

B WITREREE

Ad—hk Ba—hk ca—hk
s sl HEE R EERE HEt FREEERE e
FI24% 0 = 745 = F24% 0 =¥
BFI | albfs — £5T xF1 |[4.BX — k4O
1| 10:00~ 1| 10:00~ 10:00~
;! L55
TD| Ref. Adviserl TD| Ref. Adeserl
BFI | b.EI — e@W XF1 (OB — ZER
2| 11:30~ 2| 11:30~ 11:30~
BIES AN
TD| Ref. Adviserl TD| Ref. Adwserl | |
BFO | clld — dET BFI |ABHR — FES SFIX (LB — (ZFH
13:00~ 13:00~ 13:00~
’ e 3 FAZ BT
o] Ref. Adviser]| 70| Ref. Adviser | 70| Ref. Adviser|
BFI |BERX — ELS BFIOX|ATHE — EBEK
4] 14:30~ 4] 14:30~ 14:30~
Vx4 G
TD| Ref. Adeserl TD| Ref. Adviserl
BFI |ClafE — DAL BFMY|F2BE — ~JI&
16:00~ 16:00~ 16:00~
° ° BB AT
| [ 70| Ref. Adviser | o] Ref. Adviser]|
%28H 9H21H(K)
Ad—bh Ba—k ca—+k
s HEe s s HEe B HEe
T4 = T4 2= T4 =
BFIO | alifE — e XF1 |4 BX — =EE BFIOX|LVER — LBE
10:00~ 10:00~ 10:00~
' Fi% 1 AL FHE
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
BFI | b&EN — dEI ZFI (/B — Fkun BFIOX |5 THE — &4
2| 11:30~ — 2| 11:30~ 11:30~
FIEX RSB o]
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
BFO | clld — f&HI BFI |ABK — ELE BFOMY|~BEW — kG
3| 13:00~ 3| 13:00~ 13:00~
EIE:] BAZ iR
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
BF1 |BEKX — D ZFI [REN — LEA
4] 14:30~ 4] 14:30~ 14:30~
a1z T
TD| Ref. Adeserl TD| Ref. Adviserl
BF1 |CLE — FES ZFI (FEE — V.ER
5| 16:00~ 5| 16:00~ — 16:00~
B B
| | TD| Ref. Adeserl TD| Ref. Adviserl
$¥£3HEH 9H22H (%)
Ad—Fk Ba—k ca—+k
5 P B e Hatd ptsdsin] HEE s disin] HEE
A 742w =4 A4 = 242wl BT
BFOX (L8R — »TH ZFI |OJER — ka0 ZFI |MEN — I
1] 10:00~ 1] 10:00~ 10:00~ —
KT EES BlEX
TD| Ref. Adviserl TDI Ref. Adviserl TDI Ref. Adviserl
BFIOX|ILBER — 28X ZFI (18K — Z@&L ZFI (VESE — L.EA
2| 11:30~ 2| 11:30~ — 11:30~ —
] L1 55 =i &L
TDI Ref. Adviserl TDI Ref. Adeserl TDI Ref. Adviserl
BFIO | b.FN — clld BF1 [BEKX — CL#E BFOY|IZ2E — ~BH
3| 13:00~ 3| 13:00~ 13:00~
1 oz Jiig 2
TDI Ref. Adviserl TDI Ref. Adeserl TDI Ref. Adviserl
BFIO | alkf® — dET BF1 |ELE — FES ZFI (F.2E — X)E
14:30~ 14:30~ 14:30~
4 BiR 4 G7[1E:S V=3 ilk
TDI Ref. Adviserl TDI Ref. Adeserl TDI Ref. Adviserl
BFI | el — f&T BFI1 |AB#K — DL
5| 16:00~ 5 16:00~ 16:00~
a5 BAB
TD| Ref. Adviserl TD| Ref. Adeserl




¥£48HHE 9H23H(L)

HaEE  #Y

SH5E9A208 (K)~24R(H)

A24% L
R WITHREREE

Ad—hk Ba—hk ca—hk
s lisn| HEE pitsdisin| HEE s lisn| Heaw
4% = AT4 %Il = 4% =¥
if;”}i X1 — i %F1 (A& — ~AEW %31 (788 - LEA
1 10:00~ 10:00~ 1 10:00~
FINE EER I %
TD| Ref. Adviser TD| Ref. Adeserl TD| Ref. Adviserl
f&% X2 — Y2 %F1 |=mB — 4o %30 [FEN — UES
2| 11:30~ 11:30~ 2| 11:30~
LI AN [EEIE:]
TD| Ref. Adviserl TD| Ref. Adwserl TD| Ref. Adviserl
—_ =P — %%]I[ —_
BF0 | alil® et/ BFI |ASR C.IL#% s X3 Y3
13:00~ 13:00~ 13:00~
s RE % s FEA
o] Ref. Adviser]| 70| Ref. Adviser | 70| Ref. Adviser|
BFIO | bEFI — BT BF¥I |BEAX — FEE ZFI (G — LEH
4] 14:30~ 14:30~ 4| 14:30~
3-480F a% Nk
o] Ref. Adviser]| 70| Ref. Adviser | 70| Ref. Adviser|
BFI | dET — effW BFI |DMIU — ELS
5| 16:00~ 16:00~ 5| 16:00~
[E1E LES
o] Ref. Adviser| 70| Ref. Adviser | [
%58H 9824H(A)
Ad—bh Ba—k ca—+k
s Hatd s dsin| HEad s tisin] Hatd
T4 = T4 2= T4 =
BFI | alctE — b.FN ZFI |4 1]RK — 0E# ZTFI | AEAU —=RE
1 9:30~ 9:30~ 1 9:30~
BAE k3 (51
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
BFI | dEAT — 5T BFI | DML — FES ZFI | BN —F.25%
11:00~ 11:00~ 11:00~
2 BAA HAZ 2 UO%
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
B5FI0 | cluA — el BFI1 |CIE — ELSE ZFI | V.ES —XJIE
3] 12:30~ 12:30~ 3] 12:30~
LR EVE N3
TD| Ref. Adviserl TD| Ref. Adeserl TD| Ref. Adviserl
BFI1 [AEHR — BERX
14:00~ 14:00~
4 % 4
TD| Ref. Adeserl
15:30~ ==




